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LOGARITMOS 

Problema 99: 

Toma logaritmos en la expresión: 

𝐴 =   
𝑚

𝑛
· ට𝑝ඥ𝑞య  

Solución Problema 99:  

Tomamos logaritmos: 

𝑙𝑜𝑔𝐴 =  log [ 
𝑚

𝑛
· ට𝑝ඥ𝑞య ] 

Aplicando las propiedades de los logaritmos: 

𝑙𝑜𝑔𝐴 = log
𝑚

𝑛
+ log ቆට𝑝ඥ𝑞య ቇ = (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) + log(𝑝ඥ𝑞య )

ଵ
ଶ = 

(𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +
1

2
log(𝑝ඥ𝑞య ) = (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +

1

2
[log 𝑝 + logඥ𝑞య ] = 

= (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +
1

2
[log 𝑝 + log 𝑞ଵ/ଷ] = 

= (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +
1

2
[log 𝑝 +

1

3
log  𝑞] = 

= (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +
1

2
log 𝑝 +

1

6
log  𝑞 

𝑙𝑜𝑔𝐴 = log ቈ 
𝑚

𝑛
· ට𝑝ඥ𝑞య ቉ = (𝑙𝑜𝑔𝑚 − 𝑙𝑜𝑔𝑛) +

1

2
log 𝑝 +

1

6
log  𝑞 

  

 

 

 

 


